

Letting:

04230407

Florida Department of Transportation

04/07/2023

Page 1 of 1

Vendor Ranking

Call Order: 004 Contract: E4W26-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45012317201 (*)

Contract Desc: BROWARD COUNTY MOWING PRIMARY (BDI) - ROUTINE MAINTENANCE

April 07, 2023 10:30 AM

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$242,909.74	100.00%
2	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$259,472.00	106.82%
3	SOUTH FLORIDA BUSHOG SERVICE, INC.	Responsive	Non-Winning Bid	\$276,666.00	113.90%
4	COCO TREE SERVICE CORP	Responsive	Non-Winning Bid	\$280,058.00	115.29%
5	JIREH LANDSCAPING CORP	Responsive	Non-Winning Bid	\$280,458.50	115.46%
6	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid	\$347,950.00	143.24%
7	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$398,540.34	164.07%
8	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$521,463.38	214.67%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 05/02/23 BEGIN TIME: 10:30 AM

END DATE: 05/05/23 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$ 300,000.00 and not the contractors bid total



Page 1 of 5

Florida Department of Transportation



Tabulation of Bids

Letting: 04230407 April 07, 2023 **Call Order:** 004 **Contract:** E4W26-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45012317201 (*)

Contract Descr: BROWARD COUNTY MOWING PRIMARY (BDI) - ROUTINE MAINTENANCE

The work under this Contract consists of providing services for Roadside mowing, edging & sweeping, and removal & disposal of litter from the curb-and-gutter, sidewalk, and various designated areas along select State Highway Systems throughout Broward County. This includes supplying labor, equipment, materials, and incidentals necessary to complete this iob.

- MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$300,000.00 and not the contractors bid total.
- BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm. For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm.

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project s major work type, per Rule 14-22, Florida Administrative Code.

• REQUIRED SUBMITTAL WITH BID: Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the AASHTOWare Project Bids application. BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- GENERAL LIABILITY: The limits of coverage shall not be less than \$100,000 for each occurrence and not less than a \$300,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible.



Page 2 of 5

Florida Department of Transportation



Tabulation of Bids

Letting: 04230407 April 07, 2023 **Call Order:** 004 **Contract:** E4W26-R0

Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

Line No / Item ID Item Description		Alternate	Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) SOUTH FLORIDA BUSHOG SERVICE, INC.	
	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SMALL MACH	INE MOWING (AC	;				
0005 MOWIN	E107 2 1 IG (LARGE MA	CHINE)	1,004.000 AC	57.00000	57,228.00	62.00000	62,248.00	25.00000	25,100.00
0010 MOWIN	E107 2 2 IG (SLOPE)		770.000 AC	75.00000	57,750.00	95.00000	73,150.00	45.00000	34,650.00
0015 MOWIN	E107 2 4 IG (SMALL MAC	CHINE)	1,400.000 AC	58.50000	81,900.00	65.00000	91,000.00	45.00000	63,000.00
0020 LITTER	E110 30 REMOVAL		3,174.000 AC	0.01000	31.74	1,00000	3,174.00	34.00000	107,916.00
0025 EDGIN	E110 32 2 G		2,300.000 MI	20.00000	46,000.00	13.00000	29,900.00	20.00000	46,000.00
		. MACHINE Se WING (AC)	ction Totals:		\$242,909.74 ¹		\$259,472.00	I	\$276,666.00



Florida Department of Transportation



Tabulation of Bids

Page 3 of 5

Lettin	g : 0	4230407	April 07, 2023	Cal	l Order: 004		Contract:	E4W26-R0	
Line No / Item ID Alternate Quantity Item Description Units		(4) COCO TREE SERVICE CORP		(5) JIREH LANDSCAPING CORP		(6) T.T.C. ENVIRONMENTAL, INC.			
() in	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SMALL MACH	INE MOWING (AC	;				
0005 MOWIN	E107 2 1 NG (LARGE MA	ACHINE)	1,004.000 AC	60.50000	60,742.00	49.00000	49,196.00	25.00000	25,100.00
0010 MOWIN	E107 2 2 NG (SLOPE)		770.000 AC	38.50000	29,645.00	75.00000	57,750.00	150.00000	115,500.00
0015 MOWIN	E107 2 4 NG (SMALL MA	ACHINE)	1,400.000 AC	80.00000	112,000.00	65.00000	91,000.00	75.00000	105,000.00
0020 LITTER	E110 30 R REMOVAL		3,174.000 AC	16.50000	52,371.00	18.75000	59,512.50	25.00000	79,350.00
0025	E110 32 2		2,300.000	11.00000	25,300.00	10.00000	23,000.00	10.00000	23,000.00
EDGIN	G		MI						
		L MACHINE S OWING (AC)	Section Totals:		\$280,058.00		\$280,458.50		\$347,950.00
		Contract G	rand Totals:		\$280,058.00		\$280,458.50		347,950.00



Florida Department of Transportation



Tabulation of Bids

Page 4 of 5

Lettin	ig: 0	14230407	April 07, 2023	Cal	Order: 004		Contract:	E4W26-R0	
	Line No / Item ID Alternate Quantity Item Description Units			(7) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.		(8) ROGAR MANAGEMENT & CONSULTING OF FLORIDA			
() in	dicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SMALL MACH	INE MOWING (AC					
0005 MOWIN	E107 2 1 NG (LARGE M <i>i</i>	ACHINE)	1,004.000 AC	24.48000	24,577.92	19.91000	19,989.64		
0010 MOWIN	E107 2 2 NG (SLOPE)		770.000 AC	48.24000	37,144.80	75.00000	57,750.00		
0015 MOWIN	E107 2 4 NG (SMALL MA	ACHINE)	1,400.000 AC	148.24000	207,536.00	100.00000	140,000.00		
0020 LITTER	E110 30 R REMOVAL		3,174.000 AC	24.63000	78,175.62	8.01000	25,423.74		
0025 EDGIN	E110 32 2 G		2,300.000 MI	22.22000	51,106.00	121.00000	278,300.00		
		LL MACHINE S OWING (AC)	Section Totals:		\$398,540.34		\$521,463.38		
		Contract G	rand Totals:		\$398,540.34		\$521,463.38		



Florida Department of Transportation

04/07/2023

Tabulation of Bids

Page 5 of 5

Letting: 04230407 April 07, 2023 Call Order: 004

Contract:

E4W26-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.